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303 L&t =3 1,700 1,700 0
01 243 1,700 1,700 0
O+ & OoICIH 22H 22 1,700,000& 1,700
& 0lchs0E ZAIIBHAIY =& 314,800 0 314,800
SEH SANE WY 232,200 0 232,200
22 232,200 0 232,200
201 ¢er24] 22,600 0 22,600
01 AF22t2l bl 22,600 0 22,600
Oget=gH| 8,400,000 8,400
Oaslla & =&d IEMA 6,000,000 6,000
og2deg 22 M= 5,000,000 5,000
Oz &l 3,200,000 3,200
202 o4 Hl 9,600 0 9,600
01 S LHOIYI 9,600 0 9,600
Ot &AL & NE=+& 9,600,000& 9,600
401 A& HIZ 201 Y] 200,000 0 200,000
01 A& HI 198,560 0 198,560
BUNY JEXA L EIPE EASY
198,560, 000& 198,560
03 Al S THHI 1,440 0 1,440
OBAMY JEZAN L EIZH ZABY
200,000,000& «0.72/100 1,440
SE=NESEA =8 82,600 0 82,600
SEIMESE A X, =4 82,600 0 82,600
201 LEr2 A | 73,000 0 73,000
01 At 2t2l bl 33,000 0 33,000




AN JIEZ AL
M g Dlefs0E LAEIIBHALY =&
Sl BEIHEBCA FX CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O e8| 3,000,000& 3,000
Os2s & 294 ME 30,000,000& 30,000
03 A2 Z Hl 40,000 0 40,000
OAMNZRIE IS BAMN BAR2F
40,000,000& 40,000
202 Odl 9,600 0 9,600
01 = LHO YI 9,600 0 9,600
OZAHT slo &4 & HdAX As
9,600,000 9,600
ol gl gl 18,462,526 18,629,311 A 166,785
oll Bl bl 18,462,526 18,629,311 A 166,785
0l Bl 8l 18,462,526 18,629,311 A 166,785
801 GilBI8I 18,462,526 18,629,311 A 166,785
1 Lerolditl 4,200,000 4,200,000 0
O Eetalgltl 4,200,000,000& 4,200,000
02 THoH - TH = &0l Hld] 13,251,741 13,820,454 A 568,713
OTHol - =S =0l 13,251,741,000& 13,251,741
NBUHEsES 1,010,785 608,857 401,928
OURERE=S 1,010,785,000& 1,010,785
HE2AZH (D2 AA) 38,350 37,960 390
Jl23&dl 38,350 37,960 390
JlE2zl 38,350 37,960 390
201 et 13,750 14,260 A510
01 At 22l 13,750 14,260 A510
OgBt=&H| 13,750, 000& 13,750
202 O4dl 15,000 15,600 A 600
01 = LHA YI 15,000 15,600 A 600
ORMSY (A, MOIU, 38 &4 S)
15,000, 000& 15,000
203 ¥ S =&l 9,600 8,100 1,500
01 JI122E Y= 4,800 3,300 1,500
OJI=llata & 4,800,000& 4,800
04 FN2ELSZ=TH 4,800 4,800 0
ORAN2EYE=4HI 4,800,000 4,800
MEES(IIE2AA) 2,000,000 0 2,000,000
RSN 2,000,000 0 2,000,000
I3EE3 2,000,000 0 2,000,000
702 JI=sdES 2,000,000 0 2,000,000
(EPIE=RSE-t= 2,000,000 0 2,000,000




S HSIEEIPN
A PRESOIH2AL)

el BEXE

SA-3H-S(3AH) - MRAS - BES Off &t 24

2,000,000,000& 2,000,000

=

i
2m




